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BCOE-142 : MANAGEMENT ACCOUNTING

Time : 3 Hours Maximum Marks : 100

Note : Attempt Section A and Section B. Section A
carries 40 marks and Section B carries

60 marks. All questions carry equal marks.

Section—A

Note : Answer any two of the following questions.

1. Distinguish between cost control and cost

reduction. 20

P.T.O.



(b)
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Discuss the Ilimitations of Financial
Statements. 10
What are the advantages of Activity-Based

Costing ? 10

3. Write short notes on any four of the following :

(a)
(b)
(©
(d)
(e)
(®

5+5+5+5
Target Costing
Social Accounting
Flexible Budgeting
Break-Even-Analysis
Budgetary Control
Secret Reserve

Section—B

Note : Answer any three of the following questions.

4. From the given information, calculate the
following : 4+4+4+4+4

@)

Gross Profit

(1) Operation Cost

(i11) Profit Before Interest and Taxes

(iv) Profit Before Tax

V)

Profit After Tax



[3]

Particulars

Sales (Gross)
Return inwards

Financial Expenses (Non-

operating)

Other income (Non-operating)
Rent received

Direct Expenses (Manufacturing)
Selling and Distribution expenses

Office and Administrative

expenses
Purchases less returns

Inventories (01-04-2002)
Inventories (31-03-2023)

Presuming tax rate of 35%.
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R in’000)
2,075
15

60

25
35
375
75

150

850
145
165

From the given data, calculate the following :

(1) Material Mix Variance
(1) Material Price Variance

(111) Material Usage Variance

20

P.T.O.
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R
aw. Standard Actual
Material
X 40 units @ ¥ 50 | 50 units @ ¥ 50
per unit per unit
Y 60 units @ ¥ 40 | 60 units @ T 45
per unit per unit
Total 100 units 110 units

From the following data, prepare an income

statement under absorption costing and
marginal costing : 10+10
Particulars 4

Direct Material Cost 48,000
Direct wages 22,000
Variable overheads :

Factory 13,000
Administrative and selling 2,000
Fixed overheads :

Factory 20,000
Administrative and selling 8,000
Sales 1,25,000
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7. With the help of the following data, a
manufacture seeks your advice whether to buy

an item from the market or to make it at the

floor of the factory : 20
Present | Proposed
Particulars (Buy) (Make)
4 4

Sales 16,00,000 | 16,00,000
Costs : Variable 11,20,000 10,24,000
Fixed 3,60,000 4,00,000
Capital required 8,00,000 9,00,000

8. What are the various methods of pricing ?

Explain with suitable examples. 20

9. Define Responsibility Accounting. How does it

differ from Conventional Cost Accounting ?

5+15

P.T.O.
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20,000
8,000

1,25,000

o oo >

ISRl
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Telle <edl ¢ T T 9 aeK 9§ @lg S| a1
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